

Nama : Behvi Egrian Emirson
NIM : 2012 - 21 - 045

Tugas Online 4
Matematika 2

$$1. \frac{dy}{dx} + 2xy = 7x$$

$$y = e^{-\int p(x) dx} \left[\int a(x) \cdot e^{\int p(x) dx} dx + c \right]$$

$$y = e^{-\int 2x dx} \left[\int 7x \cdot e^{\int 2x dx} dx + c \right]$$

$$y = e^{-x^2} \left[\int 7x \cdot e^{x^2} dx + c \right]$$

Misal : $u = x^2$ $dx = \frac{du}{2x}$
 $\frac{du}{dx} = 2x$

$$y = e^{-x^2} \left[\int 7x \cdot e^u \frac{du}{2x} + c \right]$$

$$y = e^{-x^2} \left[\frac{7}{2} \int e^u du + c \right]$$

$$y = e^{-x^2} \left[\frac{7}{2} e^u + c \right]$$

$$y = e^{-x^2} \left[\frac{7}{2} e^{x^2} + c \right]$$

$$2. (2x + y) dy + (x - 3y) dx = 0$$

$$(2x + y) dy + (x - 3y) dx = 0 \quad | : y$$

$$\left(2\frac{x}{y} + 1\right) dy + \left(\frac{x}{y} - 3\right) dx = 0$$

$$\text{Misal : } u = \frac{x}{y}$$

$$x = u \cdot y$$

$$dx = dy \cdot u + y \cdot du$$

$$= (2u + 1) dy + (u - 3) \{ dy \cdot u + y \cdot du \} = 0$$

$$= (2u + 1) dy + (u^2 - 3u) dy + (u - 3) y \cdot du = 0$$

$$= (u^2 - u + 1) dy + (u - 3) y \cdot du = 0 \quad | : y$$

$$= (u^2 - u + 1) \frac{dy}{y} + (u - 3) du = 0 \quad | : (u^2 - u + 1)$$

$$= \frac{dy}{y} + \frac{(u - 3)}{(u^2 - u + 1)} du = 0$$

$$= \int \frac{dy}{y} + \frac{(u - 3)}{(u^2 - u + 1)} du = 0$$

$$= \ln y + \int \frac{\frac{1}{2}(2u - 1) - \frac{5}{2}}{(u^2 - u + 1)} du = 0$$

$$= \ln y + \frac{1}{2} \int \frac{2u - 1}{u^2 - u + 1} du - \frac{5}{2} \int \frac{1}{u^2 - u + 1} du = 0$$

$$= \ln y + \frac{1}{2} \ln |u^2 - u + 1| - \frac{5}{2} \int \frac{1}{(u - \frac{1}{2})^2 + \frac{3}{4}} du = 0$$

$$= \ln y + \frac{1}{2} \ln |u^2 - u + 1| - \frac{5}{2} \left\{ \frac{1}{\sqrt{\frac{3}{4}}} \operatorname{arc} \operatorname{tg} \frac{(u - \frac{1}{2})^2}{\sqrt{\frac{3}{4}}} \right\}$$

$$= \ln y + \frac{1}{2} \ln \left| \frac{x^2}{y^2} - \frac{x}{y} + 1 \right| - \frac{5}{2} \left\{ \frac{1}{\sqrt{\frac{3}{4}}} \operatorname{arc} \operatorname{tg} \frac{(\frac{x}{y} - \frac{1}{2})^2}{\sqrt{\frac{3}{4}}} \right\}$$

$$\begin{aligned}
3. \quad & 3x (y^5 + 9) dy + 6x^5 y dx = 0 \\
& = 3x (y^5 + 9) dy + 6x^5 y dx = 0 \quad | : x \\
& = 3 (y^5 + 9) dy + 6x^4 y dx = 0 \quad | : y \\
& = 3 \left(\frac{y^5 + 9}{y} \right) dy + 6x^4 dx = 0 \\
& = 3 \int \frac{y^5}{y} dy + 27 \int \frac{1}{y} dy + \int 6x^4 dx = 0 \\
& = 3 \left\{ \frac{1}{5} y^5 \right\} + 27 \ln y + \frac{6}{5} x^5 = C \\
& = \frac{3}{5} y^5 + 27 \ln y + \frac{6}{5} x^5 = C
\end{aligned}$$

$$\begin{aligned}
4. \quad & (5x^3 + y^3) dy + 6x^2 y dx = 0 \\
& = (5x^3 + y^3) dy + 6x^2 y dx = 0 \quad | : y^3 \\
& = \left(5 \frac{x^3}{y^3} + 1 \right) dy + 6 \frac{x^2}{y^2} dx = 0
\end{aligned}$$

Misal : $u = \frac{x}{y}$ $dx = dy \cdot u + y \cdot du$
 $x = y \cdot u$

$$\begin{aligned}
& = (5u^3 + 1) dy + 6u^2 \{ dy \cdot u + y \cdot du \} = 0 \\
& = (5u^3 + 1) dy + 6u^3 dy + 6u^2 y \cdot du = 0 \\
& = (11u^3 + 1) dy + 6u^2 y \cdot du = 0 \\
& = (11u^3 + 1) dy + 6u^2 y \cdot du = 0 \quad | : y \\
& = (11u^3 + 1) \frac{dy}{y} + 6u^2 \cdot du = 0 \quad | : (11u^3 + 1) \\
& = \frac{dy}{y} + \frac{6u^2}{11u^3 + 1} du = 0 \\
& = \int \frac{dy}{y} + \int \frac{6u^2}{11u^3 + 1} du = 0 \\
& = \ln y + \int \frac{6/33 (33u^2)}{11u^3 + 1} du = 0 \\
& = \ln y + \frac{6}{33} \ln | 11u^3 + 1 | = C \\
& = \ln y + \frac{6}{33} \ln | 11 \frac{x^3}{y^3} + 1 | = C
\end{aligned}$$

$$\begin{aligned}
 5. & (9x - 15y^2) dx + 12xy dy = 0 \\
 & = (9x - 15y^2) dx + 12xy dy = 0 \quad | : x^2 \\
 & = \left(9 - 15 \frac{y^2}{x^2}\right) dx + 12 \frac{y}{x} dy = 0
 \end{aligned}$$

$$\text{Misal : } u = \frac{y}{x} \quad dy = dx \cdot u + x \cdot du.$$

$$y = u \cdot x$$

$$\begin{aligned}
 & = (9 - 15u^2) dx + 12u dy = 0 \\
 & = (9 - 15u^2) dx + 12u [dx \cdot u + x \cdot du] = 0 \\
 & = (9 - 15u^2) dx + 12u^2 dx + 12ux du = 0 \\
 & = (9 - 3u^2) dx + 12u x du = 0 \quad | : x \\
 & = \left(9 - 3u^2\right) \frac{dx}{x} + 12u du = 0 \quad | : (9 - 3u^2) \\
 & = \frac{dx}{x} + \frac{12u}{9 - 3u^2} du = 0 \\
 & = \int \frac{dx}{x} + \int \frac{12u}{9 - 3u^2} du = 0 \\
 & = \ln x - 2 \int \frac{-6u}{9 - 3u^2} du = 0 \\
 & = \ln x - 2 \ln |9 - 3u^2| = C \\
 & = \ln x - 2 \ln \left|9 - 3 \frac{y^2}{x^2}\right| = C.
 \end{aligned}$$